H BT IMFT A

9-4-2 WK OAMRE (2)

1| D RGN ZRE &,
DO x?+2x-8=0 ® x?+5x+6=0

@ x2+6x+9=0 ® x?2-7x-18=0

® x2-10x+24=0

® x?+6x+5=0

(1] ko AR EfmE 2 S,
D x2+x-2=0 @ x?+4x+3=0

@ x?-8x+16=0 ® x?-3x-10=0

® x2-13x+30=0

® x2+9x+20=0
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B2] koW ERREMHE &,

@ 3x*+6x-24=0 @ —x?+7x+18=0 ® %x2+%x+§:0
2] ko AR ERE R S,

@ 2x* +10x-12=0 @ 5x*+30x+45=0 ® %xz—zx_l_;:o
@ 3x*-6x-72=0 ® —-x*+9x-8=0 ® %xz—x+1=0
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1] woO—wBEAEME 2SN,
DO x?+7x-30=0 ® x2+5x+4=0 ® x?-10x+25=0

@ x%-6x-16=0 ® x?2-x-72=0 ® x®+11x+30=0

2] ko R ERE R S,

@ 10x2 +20x+10=0 @ 3x%-9x-30=0 ® %xz_gﬂgzo
2 2 1 2 2
@ —4x°+8x+60=0 ® 3x°-30x+63=0 ® §X —gx—lzo
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O x=-—10, 3 @ x=—4, —1 ® x=5
@ x=8, —2 ® x=9, —8 ® x=—6, -5

® x=—1 @ x=5, =2 @ x=1, 5
@ x=5, —3 ® x=3, 7 ® x=3, -1
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